Jooooooooooooooooogoogn

goboogoooo

o150 120 30

1 O0boooboobuoobbobbooboo

gboooobooobooboooobobobooobooboooboooboobooobobbooboo
gbooobooobooboon
googobooobooooboo

Ly:y(”)—|—an_1(x)y"_1—|—~~~—|—a1(x)y/—|—a0(x)y:R(x) (1)
googg
Ly=0
googg
u(z) = cry1(x) + cayz(2) + - - -+ cnyn ()
go000o0ooo0booOn=3000000000000000000000O00O0DO0O

Ly =y" 4+ as(2)y" + a1(x)y + ao(x)y = R(z) (2)
000000000000000000000
00000000000000000000000000000000000000000000 ¢, ¢se5 00
000 e(2),e2(z),e3(x) 0000000000000 00 (2)0000

Yo(z) = e1(@)y1(2) + ca(2)y2(2) + es(x)ys(z) (3)
gooooooogog
O300000
Yo(z) = [ei(x)yi(z) + ch(x)ya(2) + c5(x)ys(z)]
+ cr(@)yy () + eax)ys(x) + es(x)ys(x) (4)

0000000000000 000000 ey(x),c2(x),es(x) 000000000O0O0O0O0OOOOOOOOUDODO
00000O0o00o0oo0oO0 )ooooooooooooOooOo

c1(@)ys () + eh(x)y2(w) + ca(x)ys(w) =0 (5)



00000000000000
Yo(@) = e1(2)y) (2) + cal@)yh(w) + cs()ys(x)

000000 Y(z) 000000

=3
e
+
)
w
—
=3
e
<
o3
—
=3
franet

Yi'(x) = [ @)y (@) + ch(w)ya(
+ er(@)yi(w) + eaf@)ys (

5]
~
+
S

w
—
5]
~—
<
w
—
5]
~

000000000000000000000000 00000
ey (2)yy(x) + ey (x)ys () + ch(a)ys(w) = 0 (6)
00000000000000
Yo' (x) = ex(e)y (x) + ca(x)yy () + ca(@)ys (x)
000000 Y/ (x)000000

Vi'(z) = [el(@)yi(z) + ch(x)ys (2) + es(x)ys (2)]
+ [e(@)y)’ (2) + ea(2)yy’ (2) + ea(@)ys’ (x)]
00000000 Y, Y, Y, Y0 LY, 00000y, y,ys0 Ly=0000000000000

LYo = cl(@)f () + chla)h () + chla)h () + [erLon + eaLyo + eaLys]

(@) (x) + e5(2)ys (2) + e5(2) 95 (2)

O00D0LY,=R(x)0000000 Y(x) 0000000000000

@)y (2) + ey (@) (x) + cy(w)ys (x) = R(x) (7)

0000000000000000000000000000000 (5), (6), (7)0 ¢)(z),c(z),c4(x) DOOO
000000 10000000000000000

vi(z) wa(x) ys() ¢t (x)
(@) wa(r) ys(e) ch(x) | = (8)
wi@) v(x) ws(z) | | c5(x) | R(x)
ood ) )
0
W(z)ed (z) = 0
L R(x) _

000000000000 d(») 0000000000 O0ODO0OOOOO



000000o0o0ooO0oon (2)000oo

y(z) = Ayi(z) + Bya(z) + Cys(z) + c1(z)y1 (x) + c2(x)ya(z) + cs3(x)ys ()

good
O0Y () 0000000000000 (H)OODOOoOoDOoOOoooOoUooUoOooOyrooooooooo
gboooboooboooboobooo

O0:1 00000000000
y' +y=seczx (9)

goooobood

Y1 = cosx, Yo = sinx
doooooooooooooooomw d
Wiy, y2) = coszcose — (—sinz)sinze = 1
gooooao

Yo = —cosa:/sinxsecxdx—I—Sinx/cosxsecxdx

= coszln|cosz|+ zsinx

gooooooboo
y=u+Yy=[ci+In|cosz|]cosz + (ca + x)sinx

good



